University of Connecticut
Department of Mathematics

MATH 1131 PRACTICE PROBLEMS FOR EXAM 2

Sections Covered: 3.1, 3.2, 3.3, 3.4, 3.5, 3.6, 3.8, 3.9, and 3.10, plus some previous material

Read This First!

e These practice problems are NOT sufficient review for the exam and do not represent the exact
length of the exam. You should also use other resources, such as the textbook, worksheets,

and Paul’s Online notes to find further practice problems on topics that you have struggled
with (or that you have trouble with on the practice problem set).

e Use these practice problems, in addition to other course materials, as a guide to determine
what you need to study more deeply.

e The exam will be 50 minutes during your regular discussion section meeting.

e Please read each question carefully. All questions are multiple choice. There is only one
correct choice for each answer.

e On the exam, please carefully check all of your final answers. The submitted letter answers
are the ONLY place that counts as your official answers.

e You may NOT use a calculator or any other references on the exam, and you are expected
to work independently.



Math 1131 Practice Problems for Exam 2

1. Evaluate the following limit: [1]

Kot

k
Wos equals 350 G o V0T e
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2. The function f(z) = — 1 has which of the following? 1]
x —_—
(A) no vertical or horizontal asymptotes
(B) 1 vertical asymptote and 1 horizontal asymptote
—
l (C) 2 vertical asymptotes and 1 horizontal asympt@
(D) 1 vertical asymptote and 2 horizontal asymptotes
(E) 1 vertical asymptote and no horizontal asymptotes
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Math 1131 Practice Problems for Exam 2

1
3. If f(x) = Vo + WG for x > 0, then f’(4) is which of the following? [1]

) 3 3

A) - B) - —

RN §c> 2
255 257

D) — E) —

(D) 32 (E) 32

A\ V-3
Hx) = x ey B6) = é;x/iézb‘é'

- i(@ ‘i’s&)

f =1 4 _ 5
‘Y((") /7/'2'—*"_‘

4. Determine f’(1) for the function f(z) = (23 — 22+ 1)(z* — 2 + 2).
(A)3  (B)0  (C)4

(D) 2

N (32 <) (%o X + A (s =+ ) (4x>- ))

3P B0 r)s (1-1+ ) (H=1)
=(H(7) + (1)) = §

—
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Math 1131 Practice Problems for Exam 2

5. Find the equation of the tangent line to the curve y = at z = 1.

4+ 1

y _ 1lwe) -y (1) ;\ | |
dX ) Q(w«l)l (m—\)

Tboiv\\r | y([) —FT\;—[—:{% (l/%/>’“(><o,\/o)

6. If f(z) = sin(z), determine f(125) (7).

(A1 ((B) -1} (€)0

(D) 1/2 /2
(\1 u)

“E(Mbdt t(g)(@‘: - T [X) Swx, So
= (vl _O\ ‘ -6
q/(\ §) ><> OQX D: )(\( l ’JXCS'V\X) Cofx
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Math 1131 Practice Problems for Exam 2

7. To compute the derivative of sin? z with the chain rule by writing this function as a composition
f(g(x)), what is the “inner” function g(z)?

(A) x (B) z* (C) sinz

(D) sin®z (E) None of the above

SW‘\LX = C%"mx)L/ SO ﬁCx):Simx/
PGO:

d
8. Let y = f(z)g(x). Using the table of values below, determine the value of d—y when z = 2.
T

Ix)

—~

) | f'() | 9(z) | g

8

x| flz

1 5 2 4 4
2 3 4 1 3
3 2 3 2 2
4 4 1 ) )
) 1 ) 3 1

(A)9  (B)12

(D)15  (E) 23

_ P60 )+ (=) <)
oha 6 3

R W L-$l2) a2)+ F2)g2)
-Gy o+ (HTR)
?Ll’r@:lg

e
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Math 1131 Practice Problems for Exam 2

b
9. If g(z) = Z;Ej—_d’ then ¢'(1) is which of the following? Note: The numbers a,b, ¢, and d are
constants.
a+b—c—d ad — be a+b—c—d
A i cre-"-°
(A) c+d )(c+d)2 (€) (c+ d)?

ad + be ad + be
E) — "
c+d ( )(c+d)2

alew ed ) — (ax+hb)c
(cxvd)™

,,QCX4®J—@C%P%Q)
- (ox +dk)*®

(D)

S%X) ral

ad-bc

\ T — Y R\
Cadibe 2 9T T d
- ~
( Cx PO{)L
10. For the function f(z) = 23 arctan(x), which of the following is f’(1)?
VN e (F
(D) % (E) 3tan(1) + sec(1)

L) =3xavcran ()4 x°. |

(3 X &

‘ — TT_
ST < 3 arehan) + T T 3GE) %
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Math 1131 Practice Problems for Exam 2

11. Consider the functions f(x) = sin(z?) and g(z) = sin?(x). Which of the following is true?

Mfw:cos(w?) (B g/() = ~2sin(o)costa) M4 S(0) = '(a)

Wl () = o/ () = ] E) f(0) = g'<cg
) = 2 cosbeD caste
S:@& = )X cos\x )% (os5(x )—%}’(

Q'(xr} ~ 2T cosiT £0 > R
5@ () = 25in% cosx # ~Lsnx cosx > K
N

e \,va/\%\@(\
Q(o) ~ (o) cos(o™)2 O L EV

\,
6 (03 ZSIV\LDBCOS(Q) 2(0)(V) = o

12. Ifd:n[ (4z)] = 22, then find f'(z).

.%'2 33'2
BT (©%

" Les uwé-\x’ﬂm.m %, Jo
O u>— ) IV

o —
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Math 1131 Practice Problems for Exam 2

13. Find an equation of the tangent line to the curve (22 + y2)? = 422y at the point (1, L)

A)y=1 \B)y=z (O)y=22-1

D)y=-2+2 (E)y=-22+3 ] ’\DDL N (‘,\)

gx[“\/ “) } otx[qx‘l

(% +y )(7)0«7,7 ) ﬁxy ¥ U(X—é(i

20+ ( 2%?, 5 X%L\

N
Ll(lﬂrz;‘kl) qu okx .
,g+<&q&_\i v8+L’\ ~—>(—| = — =)

—2sin(In(z?)) (©) cos(In(x))

22 222

(B)

(E) None of the above

O($[S\m(mx l COS(J’\KS D (kL)J
7@5k\m><f°) - ol>< (x %)

- ijC\\/mZB L Tx

x cos (n % ) 7,(/05(\\/\ =)
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Math 1131 Practice Problems for Exam 2

. d
15. Find . [log,(3z)].

1 1 1
(A) 3zln4 \(B) zln4 ©) z
3 3
rln4 T

(D)

A )
%DOS%@A}?& man X)V 2sln Y XY

— e

— e

16. The size of a colony of bacteria at time ¢ hours is given by P(t) = 100e*!, where P is measured
in millions. If P(5) > P(0), then determine which of the following is true.

\/I. k>0
\% P'(5) <0
\/ 1. P'(10) = 100ke'*

| (A) T and III onlﬂ (B) I and II only. (C) I only.
(D) Monly.  (E) L II, and IIL

T. P 'mCV\ceA_S)V\S) o kso o T=Flo)e 5

T PE)skpeyys O Sinte >0 and Pso
—>P(5)>0 X

I PJOCB—’—\DOKeKb—Q P’(1n) = 100 k e'®k -
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Math 1131 Practice Problems for Exam 2

17. Suppose that the half-life of a certain substance is 20 days and there are initially 10 grams of
the substance. The amount of the substance remaining after time ¢ is given by

(A) 10e!%%  (B) In(10)e*/1°  (C) In(10)et/1°

) 10e™ tln( )/20 (E) 1O€tln(2)/20

\
V= At A=ylo)=10: y=10¢
At b=l0,y - 5. S=loe 5

< t

— -—’/;/ - 7/0|C_3>2/Ok \/\‘\—‘
e
Z <lwt
‘>V‘5‘0ﬁ = e,(\/\y%

18. Atmospheric pressure (the pressure of air around you) decreases as your height above sea level
increases. It decreases exponentially by 12% for every 1000 meters. The pressure at sea level
is 1013 hecto pascals. The amount of pressure at any height h is given by,

(A) 1000e'™"  (B) In(1013)*"/12  (C) 1013¢™(0-59/1000

(D) 1000e—h1n(2)/20 ‘(E) 1013l n(0-88)/1000 S

K\ Y W=o (sca wvel)
A = LO yvesSSwu vt a
1° e -Ig\% =, ='013 e "

P Seq le e

A¥ Welopd Y= 0881013 =837 P St
(1boo
= O,%X(MZIMQK e

loooelc

O0.8%=¢  1600k=ln(73)
S ¥ = hA (39

loo O
01 2¢O fooe
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Math 1131 Practice Problems for Exam 2

19. A particle moves along the curve y = v/o* + 11. As it reaches the point (2,3), the y-coordinate
is increasing at a rate of 32 cm/s. Which of the following represents the rate of increase of the

z-coordinate at that i 2
\(A) 27 cm/s 5 (B) 9 cm/s (C) 27/2 cm/s

D) 67/4 cm/s E) None of the above

\/ 3‘3&!“1 > \/ = Y1)l

d ) = (e 2 2yt S &

\W I X:’Z,/ ,3 O\\AOLO_li
Y 0{ L - 5L
L
S0 (3 =4y X577 VZ :ss‘z
hx 273 Cwa A,
20. Water is withdrawn at a constant rate of 2 ft/min from an 1nverted cone- shapﬁ-tzm'k-fme&mng

the vertex is at the bottom). The diameter of the top of the tank is 4 ft, and the height of the
tank is 8 ft. How fast is the water level falling when the depth of the Water in the tank is 2 ft?

(Remember that the volume of a cone of height h and radius r is V = 3 r2h7)

4
}\/L_\ > (A) 2 ft/mln - ft/mln (C) g ft /min

' fft/mlnf —ft/mln

z

Ve loov J/V"auﬂl%.’ v
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Math 1131 Practice Problems for Exam 2

1
21. Determine f”(z) for the function f(z) = H—Qx
x

-1 6lnx 1—-6lnx
A5y B (€

1-21
(D) 7311:6 E) None of the above
x

Px) - ;ij;ﬂzé&ZJ %=Ll

DY XB D Q\\/\x + 2 % - x}lbﬁ) L\y [X 7—><|V‘X:\

s * [I'Z[V\X~z L\U l v\x)] \'Ll‘2|\n><-tgimx

3 X
x -5 & 6 \N\)c
22. Use the linearization for the function f(z) = V23 + 2z + 1 at x = 1 to approximate the value /
of f(1.1).
161 21 17
A) 2 (B) = d
1 17

OENNCR
LG £'0)Ix-0)+ £01)

P r241 =@ -2

T )y=F (x™ 2l )72 (3F42)

F0Y = L or) T (e2) = 2 (D)= T

\9$(\)“LJH5§?)U“%¢UY 00*2
= q04—2 /+Z
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Math 1131 Practice Problems for Exam 2

23. The curve below is the graph of y = f(x). List all z-values, in interval form, on which f’(z) [1]
(the derivative of f) is positive.

10/(’(3 |\5 FOS'{}—\\\/\L l/\)\Ml/\ D S ',V\(Vu\jn:j
)O{M{M abowt X=0 dawnd %- |J ) A
loﬁj(wl““/\ O&\OOUJ’ Xl awd x=3%.
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